CSE 115 – SP 2006 - In class Exercises

Question 1

Suppose the following variables and values:

int a = 4;



double d = 4.5;

int b = 6;



double e = 3.3;

int c = -3;



double f = 0.5;

boolean g = true;

boolean h = false;

boolean I = true;

Evaluate the following expressions:

a) (a + b) * (c – c++)

b) (d / f) + (a % b)

c) b <= c

d) d != f

e) (g && h) || (!i && h)

f) (h || !g) || !h

Using the variables given above, suppose the following lines of code:

int x = a;

boolean y = b > c;

g) What is the value of x?

h) What is the value of y?

Question 2

Use the code for the class ExpressionMaker given below to answer this question.

public class ExpressionMaker {


public double exp1 (int x1, int x2, int y1, int y2) {



int tempX = (x2 – x1) * (x2 – x1);



int tempY = (y2 – y1) * (y2 – y1);



return Math.sqrt(tempX + tempY);


}


public double exp2(int x, int y, int z) {



return 0.0;


}

}

Suppose the following method call:

exp1(12, 16, 24, 27);

a) What is the value that will be computed for tempX while the method is running?

b) What is the value that will be computed for tempY while the method is running?

c) What value is returned from the method call?

d) Fill in the code for the method exp2 in the space provided so that exp2 computes the following:


x3 – (y + z)   * z





    
  y2

public double exp2 (int x, int y, int z) {
}

Question 3

Consider the code for the class Conditional given below:

public class Conditional {


public String cond1(int input) {



if (input > 0 ) {




return “Positive”;



}



else if (input > 10) {




return “Decade”;



}



else if (input > 100) {




return “Century”;



}



else {




return “Infinity”;



}

}

public boolean cond2 (double input) {


if (input <= 5.0 && input >= 0.0) {



return true;

}

else if (input > 5.0 || input <= -2.0) {


return true;

}

else {


return false;

}

}

}

What values are returned from the following method calls:

a) cond1(11);

b) cond1(-3);

c) cond1(3);

d) cond1(250);

e) cond2(3.5);

f) cond2(7.2);

g) cond2(-4.6);

h) cond2(35.3);

